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234234234234    -�56-�56-�56-�56    5�5�5�5�     20$1 �20$1 �20$1 �20$1 �    ((((�) ) ) ) -9-9-9-9::::    ;10<=;10<=;10<=;10<=    ////Mark (�) against the correct option    5555××××1=51=51=51=5    

ू. 1 C5H10 30<सK50; �1 3�? / Are C5H10 hydrocarbons? 

 (R) � �ë�1 Pentane (2) vaEV41 Fullerene  

 (;) � �ë41 Pantene (�) 5K5 Coke 

ू. 2 G©t 50 ��G � �X�5V" -�.0 #0? 
 Periodic classification of elements was given by? 

 (R) डK;V0<1V 1 � Dobriner (2) Î!E�ड 1 � by Newland 

 (;) $KdE� 1 � by Mozzle (�) $�À डE4v 1 � Mendeleev  

ू. 3 -1D1 $H 2 � 5¤1 20 �0�� 30$Ù1 3�?  
 Which of the following are plant hormones? 

 (R) <2ं a-E1  Insulin (2) =ìKd1 Estrogen 

 (;) #0.V�-�1 Thyroxine (�) 20<IK50<-11 Cytokinins 

ू.4  ��í -5250 $0ऽ5 3L? 
 What is the unit of Walt? 

 (R) �0V0 stream (2) ���� surge 

 (;) -� �0GंV potential difference (�) 50. � Work  

ू. 5 -1D1 $H 2 � 5¤1 20 d L� $0ऽ0 [d0 � 50 ~KG 134 3L? 
 Which of the following biomass is not a source of energy? 

 (R) E5f4 wood (2) �V$0" a [d0 � Nuclear Energy 

 (;) XK;V X L2 Dung Gas (�) 5K.E0 Coal 
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;q-�564.;q-�564.;q-�564.;q-�564.    ूूूूँँँँ1111    /M/M/M/Multiple choice questionsultiple choice questionsultiple choice questionsultiple choice questions            5555××××2=102=102=102=10    

ू. 6 -1D1 $H 2 � 5¤1 20 �.0 ��V" 50 Rd L-�5 �I5 134 3L? 
 Which of the following is not an abiotic component of the environment? 

 (R) dE Water (2) �¤� � plants 

 (;) 3�0 Air (�)  !-$ land 

ू.7  -�ँ� �.0 ��V" -��2 $10.0 d0G0 3L? 
 World Environment Day is celebrated on? 

 (R) 5 d!1 June 5 (2) 5 d aE0r 5 July  

 (;) 1 -�2�V December 1 (�) 20 d aE0r December 1 

ू.8  G0�4. -�� aG 2.ंऽं $H p�.KX 3K1 � �0E0 î�1 3L? 
 The fuel used in thermal power plant is? 

 (R) dE Water  (2) d L�$0ऽ0 biomass 

 (;) .!V�-1.$ uranium (�) d4�0ँ$ r�1 fossil fuel 

ू.9  -�� aG 5�  [Á4. ू 0� �V ��0-VG . a-� 134 3�? 
 Which device is not based on the heating effect of electricity? 

 (R) 34IV heater (2) IL±V taster 

 (;) ू �2 press (�) V�-ृ dV�IV refrigerator 

ू.10  �K G-ंऽ50 5K-�50 5�  $× F0E4 �01 5K 53G � 3�? 
 What is the space between two nerve cells called? 

 (R) ¹-$50 dumika (2) =�41 axene 

 (;) -21 �ï Synapse (�) ���X impulse 

-V�-V�-V�-V�    �01K�01K�01K�01K    54545454    �!-G �� !-G �� !-G �� !-G �    54-d=54-d=54-d=54-d=    ////    FFFFil in the blanksil in the blanksil in the blanksil in the blanks            10101010××××2=202=202=202=20    

ू.11  EK3� �V dXं EX10……………53E0G0 3�।   

Rusting of iron is called …………….  

( 2mं0V" corrosion / d�45V" Galvanization ) 

 



    3333    �� �/�� �/�� �/�� �/Year Year Year Year ----    2022202220222022----22223333    
 

ू.12 50Z9 50I1 � $H p�.KX……………-5.0 d0G0 3�।  

It is used for cutting glass. ( 34V0 Diamond / म �v0<I graphite ) 

ू.13 -ृ.�1 50 p�.KX ……………5�  °� $H -5.0 d0G0 3L।  

 Freon is used as a …………. 

   ( ू�4G5 refrigerant / � !�" ;101 � $H in making jewelery) 

ू.14 3V4 �-b.K $H  ……………�0.0 d0G0 3�।    

(»EKVK-vE chlorophyll /d�z #K-vE xanthophyll) 

 …………… is found in green leaves. 

ू.15 G-ंऽ50 Gऽं 54 2Vं910æ5 <50r..................3L।   

The structural unit of the nervous system is ……….  

( Î!V�1 neuron / 2 �E Cell ) 

ू.16 �.Kड41 54 5$4 2 �  …………VKX 3K d0G0 3�।  

Iodine deficiency causes …………. ( X�.IV goiter / � �-92 dysentery ) 

ू.17 -15I ð-Ä �K� 5�  -1�0V" 5�  -E= ……..... EH2 50 ू.KX -5.0 d0G0 3�। 

 A lens is used for the correction of nearsightedness.  

     ( R�GE concave /pbE convex ) 

ू.18 �¤� � �-VGऽं 5�  …………..... �I5 3�।   

Plants are the …………….. components of the ecosystem.  

( d L-�5 organic / Rd L-�5 abiotic) 

ू.19 ………. 50; �1 50 R�V°� dK -�� aG 2 a90E5 3�।   

Allotropes of carbon which are good conductors of electricity.  

( म �v0<I graphite / 34V0 diamond) 

ू.20 50; �1 + ..................         50; �1 ड0rÅ�0<ड 

 carbon + ................. carbon dioxide  

(Å�4d1 oxygen / 10<शKd1 nitrogen ) 
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234234234234    dKf4dKf4dKf4dKf4    -$E01-$E01-$E01-$E01    54-d=54-d=54-d=54-d=    /M/M/M/Match the correct pairatch the correct pairatch the correct pairatch the correct pair  5555××××2=102=102=102=10    

ू.21 �0G a   (5) 30<सKd1 
 Metal    hydrogen 

ू.22 R�0G a   (F) G0Z;0 
 non-metal   copper 

ू.23 #0.V�-�1  (X) �4.!� म-ं# 
 Thyroxine   pituitary gland 

ू.24 �}-Õ 30$Ù1  (�) #0.V�<ड म-ं# 
 growth hormone  thyroid gland 

ू.25 <2ं a-E1   (�) RÏ10�. 

 Insulin   catastrophe 

2 2 2 2     .0.0.0.0    R2 R2 R2 R2     ;G0<=;G0<=;G0<=;G0<=    /T/T/T/Tell true or falseell true or falseell true or falseell true or false            5555××××1=51=51=51=5    

ू.26 30$Ù1 �K V020.1 3� dK dz G a¡ ं54 -ब.0¡,ं -�502 =� ं�}-Õ 50 2$ò. 5VG � 3�। 
 Hormones are the chemicals that coordinate the activities, growth and 

development of animals. 

ू.27 pbE EH2 5K R- 20V4 EH2  4 53G � 3�। 
 A convex lens is also called a converging lens. 

ू.28 ू-GVK�5 50 SI $0ऽ5 ¡$ 3L। 
 The SI unit of resistor is ohm. 

ू.29 10- 54. [d0 �, [d0 � 50 �0VD �-V5 ~KG 3L। 
 Nuclear energy is the conventional source of energy. 

ू.30 ू �5 9 a�5 $H 2 ी a� 3KG � 3�। 

 Each magnet has 2 poles. 

R-GR-GR-GR-GE�!bV4.E�!bV4.E�!bV4.E�!bV4.    ूूूूँँँँ1111    /V/V/V/Very short answer questionery short answer questionery short answer questionery short answer question  5555××××2=102=102=102=10 

ू.31 �0503V4 dGं a 50 p�03V" �4-d=। 
 Give an example of a herbivorous animal. 

ू.32 -�� aG �0V0 50 ¥0 $0ऽ5 3L? 
 What is the unit of electric current? 
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ू.33 G-ंऽ50 Gऽं 54 2Vं910æ5 =� ं-ब.0æ5 <50r 50 ¥0 10$ 3�? 
 What is the name of the structural and functional unit of the nervous system? 

ू.34 ��G � 20V"4 $H -�G d ó�5 5�  G©t 50 RÎ 10$ ¥0 3� ? 
 What are the other names of d block elements in the periodic table?  

ू.35 50; �1 5�  R�V°� 5�  10$ -E-F=? 
 Name the allotropes of carbon? 

E�!bV4.E�!bV4.E�!bV4.E�!bV4.    ूूूूँँँँ1111    /S/S/S/Short answer questionhort answer questionhort answer questionhort answer question            5555××××4=4=4=4=20202020    

ू.36 V020.-15 R- -ब.0 -52 � 53G � 3� ? 
 What is a chemical reaction called? 

ू.37 म �v0<I 5�  p�.KX -E-F= । 
 Write the uses of graphite. 

ू.38 �� a-15 ��G � -1.$ ¥0 3L ? 
 What is the modern periodic law? 

ू.39 3$0V� R$0�. $H RDE 54 ¥0  !-$50 3L ? 
 What is the role of Acid in our stomach? 

ू.40 �0�� $H V020.-15 2$ò. -52 ू50V 3KG0 3L ? 
 How does chemical coordination take place in plants? 

�4� �pbV4.�4� �pbV4.�4� �pbV4.�4� �pbV4.    ूूूूँँँँ1111/L/L/L/Long answer questionong answer questionong answer questionong answer question            10101010××××2=202=202=202=20    

ू.41 (5) $01� $-�ô 54 -ब.0 5K 2-9ऽ 2$�0<= । 
  Explain with illustration the working of human brain. 

 (F) $01� 1 �ऽ 54 2Vं910 5K 2-9ऽ 2$�0<= । 
  Illustrate the structure of human eye. 

ू.42 (5) ू-GVK�K 5�  ौ �"4ब$  2.ंKd1 5K 2$�0<= । 
  Explain the series combination of resistors. 

 (F) 10$0-ं5G �V�F -9ऽ ;105V �V�¼ -�� aG �-V�# 54 50. ��034 2$�0<=। 
  Explain the working of domestic electric circuit by making labeled diagram. 


